(Sheetss ADDITION PROBLEMS 3 )

Fill in the boxes.

6 red apples 16 white rolls
8 green apples 10 brown rolls
apples altogether ___ rolls altogether
Ali has 10p 9 red flowers
Sam has 5p 7 blue flowers
They have p altogether _ flowers altogether

23 people downstairs 38 brown horses
11 people upstairs 5 white horses
SRR |
people on a bus 3 horses altogether
46 litres of water in bath Shane weighs 40 kg.
30 litres of hot water added His dad weighs 25 kg more.
litres of water in bath Shane’s dad weighs kg

57 cars in a car park - ' 35 apples are picked
19 more came in 92 apples left on tree
cars in the car park apples altogether
27 boys in Year 2 320 fiction books
26 girls in Year 2 200 non-fiction books

children in Year 2 books altogether.




